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Table 1. Comparison of energy calculated by the conventional method and the present method
The ground state The 1st excited state The second excited state
Cl Present Cl Present Cl Present
(@) B* +H, -25.44356  -25.44356 -25.13621 -25.13598 -25.13323 -25.13322
(b) BH," -25.39195 -25.39194 -25.15308 -25.15292 -25.10167 -25.10161
(c)BH"+H -25.35520 -25.35520 -25.19875 -25.19837 -25.16838 -25.16772

Table 2. Comparison of configuration coefficient calculated by the conventional method and the present method

The ground state The first excited state The second excited state
CSF  Coefficient CSF  Coefficient CSF  Coefficient
Cl Present Cl Present Cl Present

222000 0.954 0.954 221001 0.925 0.928 221010 0.930 0.930
(a) 202020 -0.123 -0.123 220002 0.183 0.176 211011 -0.109 -0.109
202200  -0.123 -0.123 201021  -0.116 -0.114 220011 0.130 0.128

222000 0.944 0.944 221010 0.945 0.942 221001 0.882 0.879
(b) 220020 -0.138 -0.139 212010 0.117 0.125 212001  -0.110 -0.117
220200  -0.138 -0.139 211011 0.069 0.074 220002  -0.334 -0.341

222000 0.865 0.863 221001 0.641 0.708 220002  -0.135 -0.130
(c) 221100 -0.174 -0.178 212001 0.167 0.169 221100 0.698 0.729
220200  -0.384 -0.385 220101 -0.562 -0.556 220200 0.473 0.448

The calculation method and basis set : CISDT/6-31G++
Structure [A] (@) rgy=2.40,ryy=0.75 (b)rgy=1.20,ry4=0.75 (C)rgy=1.20,r =150





